Class 7 Maths Teacher Name : Ms Neeru

ASSIGNMENT- 1 22.10.20

o Match the equation with its solution.
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O Wiite true or false,

| If in an equation, LHS = RHS for x = 3, then x = 3 is the
solution to that equation.
If the same number is added to both the sides of a given
cquation, the equality gets changed.
There exists a unique solution to an equation.
I in an equation, LHS > RHS for x = -1, then x =
15 the solution to that equation. |
There exist an infinite number of equations corresponding
l0-a given solution.
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D.Ticb the correct option.
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E Form an equation and solve.

12¢ + 12 < 11y + 20 18

a. an equation. b, a linear equation in one vari:
¢. an inequality. 4. a linear equation in two variz
—:— 4+ 2 = 6 can be expressed as
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.. 2 added to half of a number / gives 6.
b. half of a number 7 is 2 less than 6.
c. the sum of half of a number 7 and 2 is 6.

d. all of these
Radha’s mass is 5 kg more than thrice her brother’s mass. If her mass is

65 kg and her brother’s mass is x kg, the equation for this statement is
b.3x+5=65. ¢ 3x—-5=65  d3y+5=65

a. 2x + 5 = 65.

8 added to a certain number multiplied by 2 gives 24 more than the number
The number 1s |
a, 15. b. 16. c. 6. d. 17.

]];?\l,?(lj(eoi a number. Add 7 toit. 2. Divide 100 into two parts such

oo ¢ s b}’ 7and then that the greater part is thrice the
ply the quotient by 3. The smaller part

answer is 9. Find the number. |

equals twice 6
subtracted from multiples of § is 60. Find the

the number. Find the number. numbers



